a Instruction Book
I

a N

@ ¢ (M5x15)-4pcs
© H (M6x15)-4pcs
® @ (Msx15)-4pcs
® & (M6x10)-8pcs
@ ¢ (M8x15)-2pcs

(M8x55)-4pcs
(M8x60)-3pcs
(218x@8)-12pcs
(M8)-7pcs

(M6)-1pcs

STEP-1b For three column assembin(h

BF=mE%

/ - For two column assembing
STEP-1a BT HAE

| )
Warning:
Upper column 9 is breakaway when install
J:gg ceiling and center column.

ER:
RRAPREZRONBARERL 0.

:
i
|
i
'
'
!
i
I
|
I
|
i
!
'
!
i
'
'
'
'
i
'
!
!
)
|
i
|
'
1
'
'
!
'
'
\
h
|
!
!
)

Mark and drill 4 pilot holes on ceiling ' Mark and drill 4 pilot holes on ceiling
STEP-2a attach the mounting bracket to the ceiling | STEP-2b attach the mounting bracket to the ceiling
!
|
|
’ I
o
i ] T
I
i
i
1
1
!
|
|
|
1
|
|
|
|
|
|
|
|
I
I
I
|
|
|
|
'
H
!
1
h

ERRFEHEHINREAMFREREEERR ERMRCHEHIN REANARERETERR

i
| 5

Wz
|

1/2



/ STEP-3 Assembly column STEP-4 Attach the mounting plate to the TV\

RBEERER B E

ARZE

0
78 NG O
SRy ]

AN

Put TV assembly onto mount
BEMABHRERREL

2/2




